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Bz1270v9 W=18.905t P 1 BEAHEHESE




EZEHATOYY No. ~ No.

] A L& ER B A\
I & Ed @
Eﬂ:
i vV o+ 1000 v+ 1.000
8 2 °|2 g - °l g
F3 F: 2 2
‘500 Lnjh_l 2800 ]
o L 0 DI —
21 1 2 v - 2400 o
g L rosol 2 g~ 2
T2 = < v - 2.850 <
3900
I 3000
#FELIL
3000
28T
325
= 5
8 6o|| bo
o~ % ]_l
8 1o R
= = “—[
83 - 8
RS 2 gl B\
ofz 3| #
= w0
g g o
8
=
EHT




BEER BEZATOYY —H Ly
£ ¥ g BAf B mE
T RE 3
Qv H—k Eﬁﬁgﬁ O o = 24N/mm? 23 ggg;
T BE 2
wh | mEmEYR o Ry
D22 kg 618.6
ES A D16 kg 226.2
SD345 D13 kg 2240
=1 kg 1068.8
B Y 8% B ILEEED 25 kg 10.7
SS400 JEE R &P ¢ 32 kg 13.7
=424 m? 13.12
B 5 T #Bm® | 2175




EXEEIAT OV No. ~ No.

Al Ha Al s FER B | hE
O 1.0mEf=Y AIE WAL 1 : 0000 #t = 1.0000
EEAE 1 : 0031 #Lt = 10005
- avyy—>k
= CEEE Vi = 1/2 * ( 0300 + 0400 ) * 3200 = 1120 m’
BT V2 = 0400 *  0.200 = 0080 m
DF%E V3 = 1/2 % 0100 *  0.500 = 0025 m
NF V4 = 1/2 % 0200 *  0.200 = 0020 m®
7-FU7 HR KRR V5 = 0450  *  3.900 = 1755 m°
& 5t = 3000 m
BEFER
V6= - 1/2 % (0100 + 0200 ) * 0050 = -0.008 m® H{al
2% = -0016 m° @l
- BO# EEML h
= CEEE Al = 1.0005 *  3.200 = 3202 m
1-FuuE A2 = 0450  * 2 = 0900 m?
& 5t = 4102
R H T
T-TEEE h
A3 =  3.850 = 3850 H#im’
A4 = 3.400 = 3400 #im’




THEEIAT OV No. ~ No.

Al Ha Al s FER B | pEY | BE
aAv9)—bk | 0ck=24N/mm?2 f=CEEH L = 3000 m
BT L = 3000 m
DF%E L = 3000 m
INUTF L = 3000 m
Al L
= TR Vi= 1120 *  3.000 m° 3.360
BT V2= 0080 *  3.000 m° 0.240
DF%E V3= 0025 *x  3.000 m° 0.075
INUTF V4= 0020 *  3.000 m° 0.060
HE FERIERR Al h
- V6= -0016 3.400 m® | -0.054
N E m° 3.681
7-FU9 &R
[EhR L = 3000 m
A L
KR V5= 1755 % 3.000 m° 5.265
MEFEIER/R - V6= -0016  *  0.350 m° -0.006
N E m’ 5.259




THEEIAT OV No. ~ No.

Al A s FER B | pEY | BE
it B (SHEEYA)
3L B f-CEERIE L = 3000 m
h L
Al = 3300 *x  3.000 m? 9.900
=CEEm L = 3000 m
A3 L
Al = 3202 *x  3.000 m? 9.606
A4 = 1/2 % (3000 + 3000 )*4 2 * 0200 m? 0.849
f-CEEE
FH W = 1/2 % (0300 + 0400 ) = 0350 m
Ty W BEFRE
Al = (035 - 0050 =* 2 ) ¥ 2 % 3400 m? 1.700
BT A2-= 0.400 *  0.200 * 2 m? 0.160
DFL A3 = 1/2 % 0100 *  0.500 * 2 m? 0.050
NF AL = 1/2 % 0200 *  0.200 * 2 m? 0.040
#EFRIED
A6 = 4 2 % 0050 * 2 x 3400 x 2 m? 0.962
N F m’ 23.267




EXEEAT OV No. ~ No.
G bl Eok=s HEK B INET &t
B (#HEmEEYA)
JE hR &R #tET A M
A5 = 3000 * 0450 m? 1.350
A5 = 3000 * 0450 m? 1.350
InepE
[EBR A5 = 0450 *  3.900 * 2 m? 3510
MEFRIER
0050 * 2 % 0350 * 2 m? | -0.070
e 0050 * 2 % 0350 * 2 m? 0.099
N m? 6.239




EXEEAT OV No. No.
FE R bl e FEAR Bifs1 INET &t
&% ] ( SD345 ) EZEBATOYY EHRKSRE
£ 7] RO® B I g
o a5 D22 kg 618.6
D16 kg 226.2
SD345 D13 ke 2240
& 1068.8
mY % m ( SS400)
A | | RS  BEuFEE | —AXJYEE | BEM =
2 25 | 1.390 3.850 5.352 kg 10.7
1 32 | 2170 6.310 13.693 kg 13.7

& &t 24 .4




THEEIAT OV No. ~ No.
i HH A Eiika) FTE B | EE | AE
=425
3200 * 4.100 m? 13.120
& & m? 13.120
B 5 I | (BH4mRiH) 3.000
BilE L
3.850 * 3.000 #im2| 11.550
1] L
3400 * 3.000 #im2| 10.200
& i #hm2 21.750
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Jjo

BrEst

et

2800

1200
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1200

v + 1.000
o o ol
g g g g
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o
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g 2 g~
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#EELSIL
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HERER BEERBTOVY — &4y

2 pizr vy BAL H=E e
. T EEER 2| m 3.059
a>91)—k B O «=24N/mm 3 4,382

T EEE . 2

mip | wEmERm MY
D22 ke 520.2
E7S 5 D16 ke 189.8
SD345 D13 ke 185.3
=1 kg 895.3
B Y % B SLEEER $25 kg 9.9
SS400 JEE R &P ¢ 32 kg 13.1
=424 m’ 11.07
B 5 T Hhm? 18.13




ZEXEEBTI OV No. ~ No.

Al Ha Al s FER B | hE
O 1.0mEf=Y AIE WAL 1 : 0000 #t = 1.0000
EEAE 1 : 0031 #Lt = 10005
- avyy—>k
= CEEE Vi = 1/2 * ( 0300 + 0400 ) * 3200 = 1120 m’
BT V2 = 0400 *  0.200 = 0080 m
DF%E V3 = 1/2 % 0100 *  0.500 = 0025 m
NF V4 = 1/2 % 0200 *  0.200 = 0020 m®
7-FU7 HR KRR V5 = 0450  *  3.900 = 1755 m°
& 5t = 3000 m
BEFER
V6= - 1/2 % (0100 + 0200 ) * 0050 = -0.008 m® H{al
2% = -0016 m° @l
- BO# EEML h
= CEEE Al = 1.0005 *  3.200 = 3202 m
1-FuuE A2 = 0450  * 2 = 0900 m?
& 5t = 4102
R H T
T-TEEE h
A3 =  3.850 = 3850 H#im’
A4 = 3.400 = 3400 #im’




ZHEEHBTI OV No. ~ No.

Al Ha Al s FER B | pEY | BE
aAv9)—bk | 0ck=24N/mm?2 f=CEEH L = 2500 m
BT L = 2500 m
DF%E L = 2500 m
INUTF L = 2500 m
Al L
= TR Vi= 1120 * 2500 m° 2.800
BT V2= 0080 *x 2500 m° 0.200
DF%E V3= 0025 *x 2500 m° 0.063
INUF V4= 0020 x 2500 m° 0.050
HE FERIERR Al h
- V6= -0016 3.400 m® | -0.054
N F m’ 3.059
7-FU9 &R
[EhR L = 2500 m
A L
KR V5= 1755 % 2500 m° 4.388
MEFEIER/R - V6= -0016  *  0.350 m° -0.006
N E m’ 4.382




ZHEEHBTI OV No. ~ No.

FE R A s HEK B INET &5t
i) B | (#mEEYwA )
3 B =CEERIE L = 2500 m
h L
Al = 3300 * 2500 m? 8.250
-CEEH L = 2500 m
A3 L
Al = 3202 % 2500 m? 8.005
A4 = 1/2 % ( 2500 + 2500 )*x4 2 * 0200 m? 0.707
f-CEEE
Y W = 1/2 % ( 0300 + 0400 ) = 0350 m
Ty W BMEFHIER
A3 = ( 0350 - 0050 2 ) * 2 % 3400 m? 1.700
BT A2-= 0400 *  0.200 * 2 m? 0.160
DFE A3 = 1/2 % 0100 * 0500 * 2 m? 0.050
NF A4 = 1/2 % 0200 *  0.200 * 2 m? 0.040
MEFRIER
A6 = 4 2 % 0050 % 2 x 3400 x 2 m? 0.962
N E m? 19.874




EXEBI OV No. ~ No.
G bl Eok=s HEK B INET &t
B (#HEmEEYA)
JE hR &R #tET A M
A5 = 2500 * 0450 m? 1.125
A5 = 2500 * 0450 m? 1.125
InepE
[EBR A5 = 0450 *  3.900 * 2 m? 3510
MEFRIER
0050 * 2 % 0350 * 2 m? | -0.070
e 0050 * 2 % 0350 * 2 m? 0.099
N m? 5.789




ZHEEHBTI OV No. ~ No.

onji
cu
Jjo

FE 7l HH A HEAK B INEF

&% ] ( SD345 ) EZEEBIOv) EHRKSE

£ g RO B g =
o o D22 ke 520.2
D16 ke 189.8
SD345 D13 ke 185.3
& § 895.3

mY % m ( SS400)

A & | R HuSE | —AFJVEE B =

2 25 1.290 3.850 4.967 kg 9.9

1 32 | 2070 6.310 13.062 kg | 13.1

& &t 23.0




ZHEEHBTI OV No. ~ No.
i #a7A1 ks FTE B | EE | AE
=425
2700 * 4.100 m? 11.070
& i m? 11.070
B 5 I | (BH4mRiH) 2.500
BilE L
3850 * 2500 #m2| 9.625
1] L
3400 * 2500 #m2| 8.500
& i #hm2 18.125




\

22117099 No. ~ No.

= = 3 vl g
AR A ke itER B3
% & E @
300
T v+ 1.000 v+ 1.000
o (=] o
o o (=1 o
2|2 32 g 3 Slg
| ™ =] =) =]
3 3 E 3
500 00 2800
Plel
=
2 S vV - 2400
gls | 1 8| g~ g2
<8 L vV - 2850| < <. V- 2850 <
w i 3900 '
3000
Ea)
2499 BFELIL
125
25
28T i
Le 50 50
=}
\ ['7]
= o o
& L g A P
8 3 2
N (=]
L
L5 8 o
S 3 =
o8 4
8
~ls L3 [\
e L2
o o
n n
L1
° L= 2728
L 5 L2 = 2699 BT
- L3 = 2681 L7 = 2681
L4 = 2675 L8 = 2699
L5 = 2663
RH T L6 = 2499
2728




HERER Ef1170v9 — &4y

£ ¥R R =“Fivi HE =

f—)_g&.t 3

Qv H—F rgﬂﬁgﬁ O o = 24N/ mm’ 23 jgzg
f—)_g&.t 2

T4 gﬁﬁgﬁ e s

D22 kg 519.6

% fiA D16 kg 191.6

SD345 D13 kg 1915

=1 kg 902.7

BoY 8% | ILEERR ¢ 32 ke 24.1

SS400 [ R AR ¢ 32 kg 13.7

=45 m’ 11.54

B 5 T Hm’ 19.51




Efz1170v%9 No. ~ No.

Al Ha Al s FER B | hE
O 1.0mEf=Y AIE WAL 1 : 0000 #t = 1.0000
EEAE 1 : 0031 #Lt = 10005
- avyy—>k
= TEEE Vi = 1/2 * ( 0300 + 0400 ) * 3200 = 1120 m’
BT V2 = 0400 *  0.200 = 0080 m
DF%E V3 = 1/2 % 0100 *  0.500 = 0025 m
NF V4 = 1/2 % 0200 *  0.200 = 0020 m®
7-FU7 HR KRR V5 = 0450  *  3.900 = 1755 m°
& 5t = 3000 m
BEFER
V6= - 1/2 % (0100 + 0200 ) * 0050 = -0.008 m® H{al
2% = -0016 m° @l
- BO# EEML h
= TR Al = 1.0005 *  3.200 = 3202 m
1-FuuE A2 = 0450  * 2 = 0900 m?
& 5t = 4102
R H T
f=CEH h
A3 =  3.850 = 3850 H#im’
A4 = 3.400 = 3400 #im’




Em117J0vy No. ~ No.

Al Ha Al s FER B | pEY | BE
L2 L3
av9)—k | 0ck=24N/mm2 f=CEEE FHL = 1/2 % (2699 + 2681 ) = 2690 m
L2 L4
BT FHL3 = 1/2 % (2699 + 2675 ) = 2687 m
L1 L2
DFE FHL = 1/2 % (2728 + 2699 ) = 2714 m
L4 L5
NOF FHHL = 1/2 % (2675 + 2663 ) = 2669 m
Al L
Vi= 1120 % 2690 m° 3.013
BT V2= 0080 *x 2687 m° 0.215
DFHL V3= 0025 x 2714 m° 0.068
INUF V4= 0020 x 2669 m° 0.053
HE FERIERR Al h
- V6= -0016 * 3400 m® | -0.054
N F m’ 3.295
7-FU9 &R L1 L6
KR F¥yL2 = 1/2 % (2728 + 2499 ) = 2614 m
A EHL
KR V5= 1755 * 2614 m° 4.588
MEFEPIER/R - V6= 0016 *  0.350 m° -0.006
N F m’ 4582




Em117J0vy No. ~ No.
Al Ha Al s FER B | EE | ABE
ity (BmEeEywA)
3L B -CEERIm h L2
Al = 3300 *x 2699 m? 8.907
L3 L4
f-CEER FHL = 1/2 % (2681 + 2675 ) = 2678 m
A3 L
Al = 3202 % 2678 m? 8.575
A4 = 1/2 * (2675 + 2663 )x4 2 * 0.200 m? 0.755
F-CEEE mBEAMENAMEERRIZEHE
i BB 1B £ BB
FEHwW = 1/2 % (0300 + 0.400 ) = 0350 m
T W BEFHE
Al = (0350 - 0050 = 2 ) * 3.400 m? 0.850
MEFHELA6= J 2 *x 0050 = 2 *  3.400 m? 0.481
AL fk
THYW = 1/2%( 0300 + 0400 )* 1.0017 = 0351 m
T W BEFHE
Al = (0351 - 0050 = 2 ) * 3.400 m? 0.853
MEFHELA6= J 2 *x 0050 = 2 *  3.400 m? 0.481
BT A2-= 0.400 *  0.200 * ( 1 + 1.0017 ) m? 0.160
DF%k A3 = 1/2 % 0100 * 0500 * ( 1 + 1.0017 ) m’ 0.050
NF A = 1/2 % 0200 * 0200 * ( 1 + 1.0017 ) m’ 0.040
N E m? 21.152




ER11JavH No. ~ No.
N G bl s HEK B INEE &t
it (#mEEYwA)
JE hR &R #tET A M
A5 = 2728 * 0450 m? 1.228
A5 = 2499 * 0450 m? 1.125
imERE
JEfR A5 = 0.450 * 3.900 * ( 1 + 10017 ) m? 3.513
MEFRIER
0.050 * 2 x 0350 m? -0.070
J 0.050 * 2 x 0350 m? 0.099
N m? 5.895




Em117J0vy No. ~ No.

onji
cu
Jjo

FE 7l HH A HEAK B INEF

&% ] ( SD345 ) Em117J0vy ERHESE

£ g RO B g =
o o D22 ke 519.6
D16 ke 1916
SD345 D13 ke 1915
& § 902.7

mY % m ( SS400)

A%  # | RS HuEE —FHYEE By FE
2 32 | 1.910 6.310 12.052 ke | 24.1
1 32 | 2170 6.310 13.693 kg | 13.7

& &t 37.8




Er1170v9 No. ~ No.
i HH A ks FTE B | EE | AE
=425
= 1/2 x (2699 + 2928 ) * 4100 m? 11.535
& m? 11.535
B 5 I | (B#H4mEKiH) BIE L
= 3850 * 2.699 #im2| 10.391
1] L
= 3400 * 2.681 #m2| 9.115
=) #hm2 19.506




\

ifiz1270v%9 No. ~ No.

= = 3 vl g
AR A ke itER B3
% & E @
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T v+ 1.000 v+ 1.000
o (=] o
o o (=1 o
2|2 32 g 3 Slg
| ™ =] =) =]
3 3 E 3
500 00 2800
Plel
=
2 S vV - 2400
gls | 1 8| g~ g2
<8 L vV - 2850| < <. V- 2850 <
w i 3900 '
3000
Ea)
2499 BFELIL
125
25
28T i
Le 50 50
=}
\ ['7]
= o o
& L g A P
8 3 2
N (=]
L
L5 8 o
S 3 =
o8 4
8
~ls L3 [\
e L2
o o
n n
L1
° L= 2728
L 5 L2 = 2699 BT
- L3 = 2681 L7 = 2681
L4 = 2675 L8 = 2699
L5 = 2663
RH T L6 = 2499
2728




HERER Ef1270v9 — &4y

2 ¥R FRIE B fg = BE
T EEE 3
Qv 41—k rgﬂﬁgﬁ O = 24N/mm” 23 jgzg
T EEE 2
B | wEEERE T2
D22 kg 519.6
7S 5 D16 kg 191.6
SD345 D13 kg 1915
=1 kg 902.7
B Y 8% B ILEEED ¢ 32 kg 24.1
SS400 JEE R &P ¢ 32 kg 13.7
=424 m? 11.54
B 5 T Hm’ 19.51




Bfz1270v%9 No. ~ No.

Al Ha Al s FER B | hE
O 1.0mEf=Y AIE WAL 1 : 0000 #t = 1.0000
EEAE 1 : 0031 #Lt = 10005
- avyy—>k
= TEEE Vi = 1/2 * ( 0300 + 0400 ) * 3200 = 1120 m’
BT V2 = 0400 *  0.200 = 0080 m
DF%E V3 = 1/2 % 0100 *  0.500 = 0025 m
NF V4 = 1/2 % 0200 *  0.200 = 0020 m®
7-FU7 HR KRR V5 = 0450  *  3.900 = 1755 m°
& 5t = 3000 m
BEFER
V6= - 1/2 % (0100 + 0200 ) * 0050 = -0.008 m® H{al
2% = -0016 m° @l
- BO# EEML h
= TR Al = 1.0005 *  3.200 = 3202 m
1-FuuE A2 = 0450  * 2 = 0900 m?
& 5t = 4102
R H T
f=CEH h
A3 =  3.850 = 3850 H#im’
A4 = 3.400 = 3400 #im’




Ef1270vH No. ~ No.

Al Ha Al s FER B | pEY | BE
L2 L3
av9)—k | 0ck=24N/mm2 f=CEEE FHL = 1/2 % (2699 + 2681 ) = 2690 m
L2 L4
BT FHL3 = 1/2 % (2699 + 2675 ) = 2687 m
L1 L2
DFE FHL = 1/2 % (2728 + 2699 ) = 2714 m
L4 L5
NOF FHHL = 1/2 % (2675 + 2663 ) = 2669 m
Al L
Vi= 1120 % 2690 m° 3.013
BT V2= 0080 *x 2687 m° 0.215
DFHL V3= 0025 x 2714 m° 0.068
INUF V4= 0020 x 2669 m° 0.053
HE FERIERR Al h
- V6= -0016 * 3400 m® | -0.054
N F m’ 3.295
7-FU9 &R L1 L6
KR F¥yL2 = 1/2 % (2728 + 2499 ) = 2614 m
A EHL
KR V5= 1755 * 2614 m° 4.588
MEFEPIER/R - V6= 0016 *  0.350 m° -0.006
N F m’ 4582




Ef1270v9 No. ~ No.
Al Ha Al s FER B | EE | ABE
ity (BmEeEywA)
3L B -CEERIm h L2
Al = 3300 *x 2699 m? 8.907
L3 L4
f-CEER FHL = 1/2 % (2681 + 2675 ) = 2678 m
A3 L
Al = 3202 % 2678 m? 8.575
A4 = 1/2 * (2675 + 2663 )x4 2 * 0.200 m? 0.755
F-CEEE mBEAMENAMEERRIZEHE
i BB 1B £ BB
FEHwW = 1/2 % (0300 + 0.400 ) = 0350 m
T W BEFHE
Al = (0350 - 0050 = 2 ) * 3.400 m? 0.850
MEFHELA6= J 2 *x 0050 = 2 *  3.400 m? 0.481
AL fk
THYW = 1/2%( 0300 + 0400 )* 1.0017 = 0351 m
T W BEFHE
Al = (0351 - 0050 = 2 ) * 3.400 m? 0.853
MEFHELA6= J 2 *x 0050 = 2 *  3.400 m? 0.481
BT A2-= 0.400 *  0.200 * ( 1 + 1.0017 ) m? 0.160
DF%k A3 = 1/2 % 0100 * 0500 * ( 1 + 1.0017 ) m’ 0.050
NF A = 1/2 % 0200 * 0200 * ( 1 + 1.0017 ) m’ 0.040
N E m? 21.152




Ef1270vH No. ~ No.
N G bl s HEK B INEE &t
it (#mEEYwA)
JE hR &R #tET A M
A5 = 2728 * 0450 m? 1.228
A5 = 2499 * 0450 m? 1.125
imERE
JEfR A5 = 0.450 * 3.900 * ( 1 + 10017 ) m? 3.513
MEFRIER
0.050 * 2 x 0350 m? -0.070
J 0.050 * 2 x 0350 m? 0.099
N m? 5.895




Ef1270v9 No. ~ No.

onji
cu
Jjo

FE 7l HH A HEAK B INEF

&% ] ( SD345 ) Ef1270v9 EHRSE

£ g RO B g =
o o D22 ke 519.6
D16 ke 1916
SD345 D13 ke 1915
& § 902.7

mY % m ( SS400)

A%  # | RS HuEE —FHYEE By FE
2 32 | 1.910 6.310 12.052 ke | 24.1
1 32 | 2170 6.310 13.693 kg | 13.7

& &t 37.8




Ef1270v9 No. ~ No.
i #a7A1 ks FTE B | EE | AE
=425
= 1/2 x (2699 + 2928 ) * 4100 m? 11.535
& m? 11.535
B 5 I | (B#H4mEKiH) BIE L
= 3850 * 2.699 #im2| 10.391
1] L
= 3400 * 2.681 #m2| 9.115
=) #hm2 19.506




